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1.3.8(
Find the solution to the following equation by reading the accompanying graph.
9.8x-9310=0 0
100+ ’/
£ =0 + %
ook 2o fo; A

X
ey e Ot
-100  -80 -60 -40 -20 20 40 60 80 100 L




1-3-notes-supplemental.notebook January 27, 2017

1.3.91-GC = Question H¢

fMate the solution\o the following equation. Then find the solution

Use a graphing calculator to es

algebraically and compare it with your estimate.
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1.3.97-GC i= Question Help

Use a graphing calculator to estimate the solution to the equation to two decimal places. Then find the
solution algebraically and compare it with your estimate.
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1.3.111 = Question Help

Solve the following equation. Then identify the equation as an identity, an inconsistent equation, or a
conditional equation.

2(x-4)=2x-8
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